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Note : 1. Question No. 1 is compulsory. S J' P\\;
2. Attempt any three questions from the remaining questions. N
3. Assume suitable data wherever necessary. L i ?.' -
r‘: N r
| »
1. Solve Following. (Any four) A~ 4 20
a) A broadcast radio transmitter radiates SkW power w E:nﬁthé:pﬁ‘rcenl
modulation is 60. Determine carrier power. {\f? pa ”
b) Compare NBFM and WBFM. W
¢)  What are the different types of quantization errﬁ{rg}Txphm with suitable
diagram. ;-.—--H“:: &
d) Describe FM Telemetry. é}_tgfff_"'\jj‘:h :
¢) Explain GPIB Bus. W ;
2. a) With a suitable diagram explain adaﬁmfe: ﬂcl& nmdu]at,on 10
b) Compare AM and FM. o ‘|-1 10
. e’
3. a) Compare PAM/PWMIPPM. (%, %, 10
b) Draw and explain working uf‘%ﬂ-ﬁuuutyn{. Receiver. 10
N
4. a) Describe the 1mp0r[§hgf: ilz.r.;jfdlﬁerfml layers of OSI reference model. 10
b) An AM transmitter, ;uﬁjﬁhcs 10kW of carrier power to a 50 Ohm load. It 10
operates at a Lmn&*\ﬁqqyémy of 1 2MHz and is 80% modulated by a 3 kHz
SINe wave. ,”f .
1) Slggig;.h neg;'ly labelled frequency spectrum.
11) caiﬁf’a}; the total average power in the signal in watts.
‘:‘;j; -
5. a) Describe thﬁ warious modes of data transmission used in communication. 10
b) (um“pg\afwm and FDM. 10
a n x
6. a) c\‘-}*ﬁb_j neat diragram explain the working of Armstrong method of FM 10
& g‘@cratmn
b)\bﬁp]am tbe phase shift method of SSB generation. 10
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